
  SET – III 

Science (Theory)        
xzqi &xzqi &xzqi &xzqi &A ¼Hk¼Hk¼Hk¼HkkkkkSfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½Sfrdh ,oa jlk;u½ 

Class Xth 

  Group – A (Physics & Chemistry)  

1. i. ml niZZ.k dk uke crkb, tks fcac dk ges’kk dkYifud lh/kk ,oa  
NksVk çfrfcac cukrk gSA ¼mÙkj ,d 'kCn ;k ,d okD; esa nhft,A½ 
Name the mirror that can give always a virtual, erect and diminished image of 

an object. (Answer in one word or in one sentence.) 

1 

 ii. fdlh 'kCndks"k ds NksVs v{kjksa dks i<+us ds fy, vki fdl çdkj 
ds ysal dk mi;ksx djrs gSa\ ¼mÙkj ,d 'kCn ;k ,d okD; esa 
nhft,A½ 
Which type of lens will you apply for reading small letters of a dictionary? 

(Answer in one word or in one sentence.) 

1 

 iii. ekuo us= esa fdl çdkj dk ysal jgrk gS\ ¼mÙkj ,d 'kCn ;k 
,d okD; esa nhft,A½ 
Which type of lens is present in human eye?(Answer in one word or in one 

sentence.) 

1 

 iv. fo|qr ÅtkZ dk O;kolkf;d ek=d fyf[k,A ¼mÙkj ,d 'kCn ;k 
,d okD; esa nhft,A½ 
Write the commercial unit of electric energy.(Answer in one word or in one 

sentence.) 

1 

 v. çR;korhZ /kkjk dh vko`fr D;k gksrh gS\ ¼mÙkj ,d 'kCn ;k ,d 
okD; esa nhft,A½ 
What is the frequency of alternating current ? (Answer in one word or in one 

sentence.) 

1 

2. i. fpIl dh FkSyh esa dkSu&lh xSl Hkjh jgrh gS\ ¼mÙkj ,d 'kCn ;k 
,d okD; esa nhft,A½ 
Which gas is filled in chips packet? (Answer in one word or in one sentence.) 

1 

 ii. /kksou lksMk dk jklk;fud lw= fyf[k,A ¼mÙkj ,d 'kCn ;k ,d 
okD; esa nhft,A½ 
Write the chemical formula of washing soda. (Answer in one word or in one 

sentence.) 

1 

 iii. ysM ,oa fVu dh ,d feJ/kkrq dk uke fyf[k,A ¼mÙkj ,d 'kCn 
;k ,d okD; esa nhft,A½ 
Name an alloy of lead and tin. (Answer in one word or in one sentence.) 

1 

 iv. rhu dkcZu ijek.kqvksa okyh ,sydsu dk uke crkb,A ¼mÙkj ,d 
'kCn ;k ,d okD; esa nhft,A½  
Name the alkane which has three carbon atoms. (Answer in one word or in 

one sentence.) 

1 

 v. rhljs vkorZ esa rRoksa dh la[;k fdruh gS\ ¼mÙkj ,d 'kCn ;k 
,d okD; esa nhft,A½ 

1 

F.M - 80 Time – 3 Hours 



How many elements are three in the third period? (Answer in one word or in one 

sentence.) 

3.  çdk’k ds ijkorZu ds fu;eksa dks fyf[k,A ¼mÙkj vf/kdre 40 
'kCnksa esa nhft,A½ 
Write the laws of reflection of light. (Answer in maximum 40 words.) 

2 

4.  fuEufyf[kr jklk;fud lehdj.k dks larqfyr dhft,%& 
Balance the following chemical equation: 

(a) Na + O2          Na2O   

(b) K + H2O          KOH + H2 

2 

5.  vafre iafDr esa cSBs fdlh fo|kFkhZ dks ';keiV i<+us esa dfBukbZ 
gksrh gSA og fo|kFkhZ fdl n`f"Vjksx ls ihfM+r gS\ bls fdl çdkj 
la’kksf/kr fd;k tk ldrk gS\ 
¼mÙkj vf/kdre 40 'kCnksa esa nhft,A½ 
A student has difficulty reading the black board while sitting in the last row. 

What would be the defect the child is suffering from? How can it be 

corrected? (Answer in maximum 40 words.) 

2 

6.  [kfut ,oa v;Ld esa varj fyf[k,A ¼mÙkj vf/kdre 40 'kCnksa esa 
nhft,A½ 
Write differences between mineral and ores. (Answer in maximum 40 words.) 

2 

7.  çdk’k ds o.kZ fo{ksi.k dks le>k,¡A ¼mÙkj vf/kdre 40 'kCnksa esa 
nhft,A½ 
Explain dispersion of light. (Answer in maximum 40 words.) 

2 

8.  fdl rRo esa % 
(a) nks dks’k gSa rFkk nksuksa bysDVªkWuksa ls iwfjr gSaA 
(b) bysDVªkWfud foU;kl 2]8]2 gS\ 
¼mÙkj vf/kdre 40 'kCnksa esa nhft,A½ 
Which elements has: 

(a)  Two shells, both of which are completely filled with electrons? 

(b) The electronic configuration 2, 8, 2 ? 

(Answer in maximum 40 words.) 

1x2=2 

9.  4cm m¡ph ,d oLrq 20cm Qksdl nwjh ds ,d vory ysal ls 30cm dh 
nwjh ij j[kh gSA cus ÁfrfcEc dh fLFkfr] ÁÑfr vkSj vkdkj Kkr 
dhft,A 
An object of 4cm height is held 30cm away from a concave lens of focal length 

20cm. Find the position, nature and size of the image formed. 

3 

10.  dkWij ds yky Hkwjs&pw.kZ dks fp=kuqlkj xeZ fd;k x;kA 
Red powder of copper is heated according of the figure given, 

i) [1] ,oa [2] dk uke fyf[k, 

Write the name of [1] and [2] 

ii) blesa gksus okyh vfHkfØ;k dk uke fyf[k,A 
  Write the name of reaction taking place. 

1x3=3 



iii) vfHkfØ;k ds fy, larqfyr lehdj.k fyf[k,A 
  write the balanced equation for reaction taken place 

 

 

 

 

 

 

 

 

 

 

¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
(Answer in maximum 50 words.) 

11.  fo|qr ifjiFk D;k gS\ lsy] Áfrjks/k] ,sehVj] cksYVehVj rFkk fLop 
lekfof"V ,d fo|qr ifjiFk dk ukekafdr vkjs[k [khafp,A 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
What is an electric circuit? Draw the labelled diagram of an electric circuit 

comprising of a cell, a resister, an ammeter, a voltmeter and a switch. 

(Answer in maximum 50 words.)  

1+2=3 

12.  gekjs 'kjhj esa nk¡rksa dk buSey ,d lcls dBksj inkFkZ gSA pkdysV 
rFkk feBkbZ [kkus ds dkj.k ;g {k; dSls gks tkrk gS\ bldk 
laj{k.k dSls djsaxs\ 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
Tooth enamel is one of the hardest substances in our body. How does it undergo 

damage due to eating chocolates and sweets? What should we do to prevent it?  

(Answer in maximum 50 words.) 

3 

  vFkokvFkokvFkokvFkok@ @ @ @ OR     

  /kksou lksMk dk rhu mi;ksx fyf[k,A ¼mÙkj vf/kdre 50 'kCnksa esa 
nhft,A½ 
Write three uses of washing soda. (Answer in maximum 50 words.) 

1x3=3 

13.  fo|qr /kkjk dk pqEcdh; ÁHkko fn[kkus ds fy, ,d Á;ksx dk 
o.kZu dhft,A ¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
Describe an experiment to show the magnetic effect of electric current. (Answer in 

maximum 50 words.) 

3 

  vvvvFkokFkokFkokFkok     

  fo|qr pqEcd D;k gS\ ,d ifjukfydk ,d pqEcd dh Hkk¡fr dSls 
O;ogkj djrh gS\  
¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
What is a electro magnet? How does a solenoid behave like a magnet? 

(Answer in maximum 50 words.) 

1+2=3 

14.  fuEufyf[kr dkcZfud ;kSfxdksa dk ;wisd uke fyf[k,A 
Write down the IUPAC name of the following organic compound. 

(a) C2 H5 OH     (b) C2  H5C HO   (c) CH3COOH 

1x3=3 

rkj dh tkyh 

f=ikn cSBdh 

cuZj 

2 1 



15.  twy dk m"eh; fu;e fyf[k,A lw= Q = I
2
Rȶ dks LFkkfir dhft,A 

¼mÙkj vf/kdre 50 'kCnksa esa nhft,A½ 
Write the Joule’s heating law. Establish the relation Q = I

2
Rȶ  

(Answer in maximum 70 words.) 

3+2=5 

  vFkokvFkokvFkokvFkok  

  fn, x, fp= ds vk/kkj ij fuEu Á’uksa ds mÙkj nhft, % 1x5=5 

  (i) fp= dk mi;qä uke nhft,A  

  (ii) [1] ,oa [2] ds uke fyf[k,A  

  (iii) fdl rjg dh mtkZ bl midj.k }kjk ifjofrZr dh tkrh gSA  

  (iv) ;g fdl fl)kar ij dk;Z djrk gS\  

  (v) vkesZpj dks ifjHkkf"kr dhft,A  

  ¼mÙkj vf/kdre 70 'kCnksa esa nhft,A½  

   

 

 

 

 

 

 

 

 

  OR  

  Answer the following questions on the basis of the given diagram. 1x5=5 

  (i) Write appropriate name of the diagram.  

  (ii) Write the names of [1] and [2].  

  (iii) Which type of energy is transformed through this apparatus?  

  (iv) On which principle does it work?  

  (v) Define Armature.  

   

 

 

 

 

 

 

 

 

16.  tLrk ds ,d lYQkbM ,oa ,d dkcksZusV v;Ld dk uke ,oa lw= 
fyf[k,A bl v;Ld esa fdldk HktZu ,oa fdldk fuLrkiu fd;k 
tkrk gS\ lehdj.k ds lkFk le>k,¡A lYQkbM v;Ld ls tLrk 

1+2+2=5 



/kkrq ds fu"d"kZ.k dk o.kZu dhft,A 
¼mÙkj vf/kdre 70 'kCnksa esa nhft,A½ 

  Write the names and formula of one sulphide ore and one carbonate ore of zinc 

which of this ores undergoes roasting and which ore calcination? Explain with 

equation. Describe the extraction of zinc metal from sulphide ore. 

(Answer in maximum 70 words.) 

1+2+2=5 

  vFkokvFkokvFkokvFkok@@@@OR  

  X ,d dkcZfud ;kSfxd gS ftlesa dkcZu ds nks ijek.kq gSaA ;g 
dejs ds rki ij nzo gksrk gS vkSj bldk mi;ksx fVapj vk;ksMhu] 
dQlhji bR;kfn esa gksrk gSA 

 

  (a) X dk ;wisd uke ,oa jklk;fud lw= fyf[k,A 1 

  (b) X esa fdrus lgla;ksxh vkca/k gaS\ 1 

  (c) dkSu lh xSl mRié gksrh gS tc ;kSfxd X lksfM;e /kkrq ls 
vfHkfØ;k djrk gS\ 

1 

  (d) X ls ,Fkhu dSls cuk,¡xs\ lehdj.k fyf[k,A 2 

  ¼mÙkj vf/kdre 70 'kCnksa esa nhft,A½  

  X is a compound of carbon which contains two carbon atoms. It is a liquid at room 

temperature and is used in making Tincture Iodine, Cough Syrups etc. 

 

  (a) Write the IUPAC name and chemical formula of X. 1 

  (b) How many covalent bonds are present in X ? 1 

  (c) Which gas is produced when compound X reacts with sodium metal? 1 

  (d) How will you prepare ethene from X ? Write the equation. 2 

  (Answer in maximum 70 words.)  
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Group – B (Biology – World of livings and Natural Resources) 

 

  Set – III  

17. i. ok;q ekxZ fuifrr D;ksa ugha gksrk gS\ ¼mÙkj ,d 'kCn ;k ,d 
okD; esa nhft,½ 
Why does not the air passage collapse? (Answer in one word or in one sentence) 

1 

 ii. dkSu lk gkeksZu #f/kj esa 'kdZjk dh ek=k dks fu;fU=r djrk gSA 
¼mÙkj ,d 'kCn ;k ,d okD; esa nhft,½ 
Which hormone controls the amount of sugar in blood? 

(Answer in one word or in one sentence) 

1 

 iii. fdl lajpuk }kjk Hkzw.k dks ek¡ ds #f/kj ls iks"k.k feyrk gSA 
¼mÙkj ,d 'kCn ;k ,d okD; esa nhft,½ 
Through  which structure is nutrition in the embryo brought about from the mother’s 

blood? (Answer in one word or in one sentence) 

1 

 iv. Mk;uklksj D;k Fks\ ¼mÙkj ,d 'kCn ;k ,d okD; esa nhft,½ 
What were dinosaurs? (Answer in one word or in one sentence) 

1 

 v. ÅtkZ dk lcls cM+k lzksr D;k gS\ ¼mÙkj ,d 'kCn ;k ,d okD; 
esa nhft,½ 

1 



What is the biggest source of energy? (Answer in one word or in one sentence) 
18.  vijk ;k IySlsUVk D;k gS\ ¼mÙkj vf/kdre 40 'kCnksa esa nhft,½ 

What is placenta? (Answer in maximum 40 words) 

2 

19.  vkn'kZ bZa/ku dh rhu fo’ks"krk,a fyf[k,A ¼mÙkj vf/kdre 40 'kCnksa 
esa nhft,½ 
 

Write three characteristics or an ideal fuel. (Answer in maximum 40 words) 

2 

20.  ikfjrU= esa ÅtkZ dk Áokg vpØh; gksrk gSA dSls\  
¼mÙkj vf/kdre 40 'kCnksa esa nhft,½ 
 

The flow of energy in an ecosystem is acyclic. How?  

(Answer in maximum 40 words) 

2 

21.  ^^ou tSo fofo/krk ds fof’k"V LFky gaS** dSls\ 
¼mÙkj vf/kdre 40 'kCnksa esa nhft,½ 
“Forests are hot spots of biodiversity” How? (Answer in maximum 40 words) 

2 

22.  jä D;k gS\ blds nks dk;Z fyf[k,A 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,½ 
What is blood? Write its two functions. (Answer in maximum 50 words) 

3 

23.  ÁfrorhZ fØ;k D;k gS\ le>k,¡A  
¼mÙkj vf/kdre 50 'kCnksa esa nhft,½ 
What is reflex action? Discuss. (Answer in maximum 50 words) 

3 

24.  uj vkSj eknk tuu gkekZsuksa ds uke ,oa dk;Z fyf[k,A 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,½ 
Write names and functions of male and female sex hormones. 

(Answer in maximum 50 words) 

3 

25.  ÁÑfr esa ubZ tkfr;ksa dh mRifÙk dSls gksrh gS\ 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,½ 
How are new species originated in nature?  (Answer in maximum 50 words) 

3 

  vFkok@ vFkok@ vFkok@ vFkok@ OR  

  ÁkÑfrd p;u D;k gS\ Li"V djsaA 
¼mÙkj vf/kdre 50 'kCnksa esa nhft,½ 
What is Natural Selection? Explain. (Answer in maximum 50 words) 

3 

26.  ekuo o`Dd dh fØ;k&fof/k dk o.kZu dhft,A 
¼mÙkj vf/kdre 70 'kCnksa esa nhft,½ 
Describe the mechanism of human kidney. (Answer in maximum 70 words) 

5 

  vFkok@ vFkok@ vFkok@ vFkok@ OR  

  fodkl dks Áxfr ugha le>k tk ldrk gS] dSls\ O;k[;k dhft,A 
¼mÙkj vf/kdre 70 'kCnksa esa nhft,½ 
Evolution cannot be understood as progress, How? Explain. 

(Answer in maximum 70 words) 

5 

 


